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Quantum Mechanics
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H= "—(p>+ —p2+ _~_ p
5,7, (P 3P e (0) 2]

1 2 1 2 2
H= %(pﬂr 2P% +p3)



L s
x:x0+vot+§at

v(t) = v + at

v} — v} = 2a(x — )

1
x:x0+§(vo+v)t

~ dL
:_’XF:I_'Zi
T a 7

1 1
T:§mq)2+§IW2

k

w=1/—

m

w

I=5

L=1w

aC:v—:—mﬁx(QxF)
T
Fc _ mv2
T
Foor = 20 x ¥
thQ p2
FE = T = - £
ks 2m 2m
C
I(f) EE(f)
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Helmholtz : FF = —kgTInZ
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1
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Statistical Mechanics
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k/
A e

1
_ V x B =puJ + ue
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General Formulas & Constants
o
1 . kp =1.381%10 23?
+ cos(2u t
cos®(u) = ——=— N = 6.022 % 102324
mo
sinz(u) _ 1- 035(2“) amu = 1.661 % 10~%"kg

h=6.582%10"1%cVs

1
sin(a) sin(b) = i(cos(a —b) — cos(a + b)) oV = 1.602 % 10-19

cos(26) = cos?(0) — sin?(0) = 938 sz
F(n)1: (n— 1)2!n' ap =5.29%10""m = m’; = mZa
e =V -
hi3 1 60:8.85*10*1251
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R = 8.31J(K * mol)™*

2 1 é*af?
T 34mwey 3
2 1 €2 6152 - 9
= — (B %
e R
_2 1 |pol?
34dmey 3

Po = Z q;iTi
i

ct' Y =By O
el _ =By v 0
y 0 0 1
2 0 0 0
F = 'ySmaH + yma
P(E,D,H,B) = (—E,—D,H,B)
T(E,D,H,B) = (E,D,—H,—B)
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Geometry Moment of
Inertia

Solid Cube %J\/[R2
Solid Cylinder/Disk | 5 MR?
About Symm. Axis
Hoop around diameter %M R?
Hoop about symm. axis | MR?
Solid Sphere 2MR?
Rod about center 1—12M L2
Rod about end gM L?
Hollow Sphere 2 M R?
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